

# County Distribution Detail Report through 06/01/2015

#### Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.26	\$0.26	0.70	\$0.18
4/2015	1,293	1,817	0	3,110	\$3,887.50	\$77.77	\$3,809.73	0.70	\$2,666.81
							Entity Total	:	\$2,666.99
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,666.99
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-5.97	\$5.97	0.70	\$4.18
3/2015	0	0	0	0	\$0.00	\$63.53	\$-63.53	0.70	\$-44.47
4/2015	4,918	10,068	39	15,025	\$18,781.25	\$387.37	\$18,393.88	0.70	\$12,875.72
							Entity Total	:	\$12,835.43
							Adjustment		\$0.00
							Total Amou	nt:	\$12,835.43
Bennett									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.09	\$1.09	0.70	\$0.76
4/2015	930	1,064	2	1,996	\$2,495.00	\$57.26	\$2,437.74	0.70	\$1,706.42
							Entity Tot	al:	\$1,707.18
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,707.18

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.12	\$1.12	0.70	\$0.78
4/2015	2,429	3,557	10	5,996	\$7,495.00	\$150.04	\$7,344.96	0.70	\$5,141.47
							Entity Tota Adjustmen		\$5,142.25 \$0.00
							-		
Prockings							Total Amo	unt:	\$5,142.25

### Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-5.61	\$5.61	0.70	\$3.93
3/2015	0	0	0	0	\$0.00	\$0.13	\$-0.13	0.70	\$-0.09
4/2015	10,379	18,888	74	29,341	\$36,676.25	\$746.33	\$35,929.92	0.70	\$25,150.94
							Entity Tota	al:	\$25,154.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$25,154.78

#### Brown

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-10.52	\$10.52	0.70	\$7.36
3/2015	0	0	0	0	\$0.00	\$105.68	\$-105.68	0.70	\$-73.98
4/2015	13,017	24,449	185	37,651	\$47,063.75	\$976.95	\$46,086.80	0.70	\$32,260.76

Entity Total:	\$32,194.14
Adjustment:	\$0.00
Total Amount:	\$32,194.14

\$0.00

Adjustment:

#### Brule

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.83	\$0.83	0.70	\$0.58
3/2015	0	0	0	0	\$0.00	\$0.10	\$-0.10	0.70	\$-0.07
4/2015	2,827	3,419	4	6,250	\$7,812.50	\$160.59	\$7,651.91	0.70	\$5,356.34
							Entity Tot	al:	\$5,356.85

Total Amount:

\$5,356.85

#### Buffalo

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.29	\$0.29	0.70	\$0.20
4/2015	626	371	1	998	\$1,247.50	\$26.19	\$1,221.31	0.70	\$854.92
							Entity Tot Adjustme Total Amo	nt:	\$855.12 \$0.00 \$855.12
_									

### Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-2.34	\$2.34	0.70	\$1.64
3/2015	0	0	0	0	\$0.00	\$12.28	\$-12.28	0.70	\$-8.60
4/2015	3,266	5,942	9	9,217	\$11,521.25	\$234.52	\$11,286.73	0.70	\$7,900.71
							Entity Tota Adjustmer Total Amo	nt:	\$7,893.75 \$0.00 \$7,893.75

## Campbell

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.65	\$0.65	0.70	\$0.46
4/2015	838	1,421	2	2,261	\$2,826.25	\$56.53	\$2,769.72	0.70	\$1,938.80
							Entity Tota	ıl:	\$1,939.26
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,939.26
Charles Mix									

#### **Reporting Period Telecom Lines** Wireless Lines VOIP **Total Lines** Surcharge Admin Fee Net Surcharge Entity **Entity Amount** Lines Percent 0 \$0.00 \$-2.94 \$2.94 \$2.06 1/2015 0 0 0 0.70 3,383 4,973 8 8,364 \$10,455.00 \$10,243.52 \$7,170.46 4/2015 \$211.48 0.70

Entity Total: \$7,172.52

Total Amount:

\$7,172.52

## City of Box Elder, Meade Co

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	0	0	0	0	\$0.00	\$1.68	\$-1.68	0.70	\$-1.18
4/2015	65	8	0	73	\$91.25	\$2.07	\$89.18	0.70	\$62.43
							Entity To		\$61.25
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$61.25

## City of North Sioux City, Uni

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2015	1,023	79	0	1,102	\$1,377.50	\$37.57	\$1,339.93	0.70	\$937.95
							Entity Tot	al:	\$937.95
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$937.95

## City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	0	0	0	0	\$0.00	\$88.33	\$-88.33	0.70	\$-61.83
4/2015	6,067	1,142	121	7,330	\$9,162.50	\$240.73	\$8,921.77	0.70	\$6,245.24
							Entity Tota Adjustmer		\$6,183.41 \$0.00
<b>.</b>							Total Amo	unt:	\$6,183.41

### Clark

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-2.29	\$2.29	0.70	\$1.60
4/2015	1,680	2,408	2	4,090	\$5,112.50	\$102.27	\$5,010.23	0.70	\$3,507.16
							Entity To	tal:	\$3,508.76

Adjustment: \$0.00

Total Amount: \$3,508.76

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.34	\$1.34	0.70	\$0.94
3/2015	0	0	0	0	\$0.00	\$21.68	\$-21.68	0.70	\$-15.18
4/2015	2,311	7,034	39	9,384	\$11,730.00	\$246.34	\$11,483.66	0.70	\$8,038.56
							Entity Tota Adjustmer Total Amo	nt:	\$8,024.32 \$0.00 \$8,024.32

## Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-9.62	\$9.62	0.70	\$6.73
3/2015	0	0	0	0	\$0.00	\$109.30	\$-109.30	0.70	\$-76.51
4/2015	9,681	17,729	70	27,480	\$34,350.00	\$715.16	\$33,634.84	0.70	\$23,544.39
							Entity Tota	al:	\$23,474.61
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$23,474.61

## Corson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.05	\$0.05	0.70	\$0.04
3/2015	0	0	0	0	\$0.00	\$0.03	\$-0.03	0.70	\$-0.02
4/2015	1,503	434	4	1,941	\$2,426.25	\$48.61	\$2,377.64	0.70	\$1,664.35
							Entity Tota	al:	\$1,664.37
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,664.37

#### Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.70	\$1.70	0.70	\$1.19
4/2015	3,735	4,548	26	8,309	\$10,386.25	\$234.44	\$10,151.81	0.70	\$7,106.27

Entity Total: \$7,107.46

Total Amount: \$7,107.46

## Davison

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-3.79	\$3.79	0.70	\$2.65
3/2015	0	0	0	0	\$0.00	\$48.30	\$-48.30	0.70	\$-33.81
4/2015	6,700	13,212	181	20,093	\$25,116.25	\$519.65	\$24,596.60	0.70	\$17,217.62
							Entity Tota	al:	\$17,186.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$17,186.46

## Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.61	\$1.61	0.70	\$1.13
3/2015	0	0	0	0	\$0.00	\$5.75	\$-5.75	0.70	\$-4.03
4/2015	2,550	3,397	3	5,950	\$7,437.50	\$149.19	\$7,288.31	0.70	\$5,101.82
							Entity Tota	al:	\$5,098.92
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,098.92

### Deuel

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.30	\$1.30	0.70	\$0.91
4/2015	2,211	2,783	17	5,011	\$6,263.75	\$142.08	\$6,121.67	0.70	\$4,285.17
							Entity Tota	ıl:	\$4,286.08
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$4,286.08
Douglas									

#### Douglas

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.33	\$1.33	0.70	\$0.93
4/2015	1,487	2,047	4	3,538	\$4,422.50	\$88.47	\$4,334.03	0.70	\$3,033.82

Entity Total: \$3,034.75

Adjustment: \$0.00

Total Amount: \$3,034.75

#### Edmunds

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.07	\$1.07	0.70	\$0.75
3/2015	0	0	0	0	\$0.00	\$3.25	\$-3.25	0.70	\$-2.28
4/2015	1,571	2,692	7	4,270	\$5,337.50	\$106.93	\$5,230.57	0.70	\$3,661.40
							Entity Total	:	\$3,659.87
							Adjustment	:	\$0.00
							Total Amou	int:	\$3,659.87
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.58	\$0.58	0.70	\$0.41
4/2015	3,544	3,900	10	7,454	\$9,317.50	\$189.48	\$9,128.02	0.70	\$6,389.61
							Entity Total	:	\$6,390.02
							Adjustment	:	\$0.00
							Total Amou	int:	\$6,390.02
Faulk									

#### **Reporting Period Telecom Lines** Wireless Lines VOIP **Total Lines** Surcharge Admin Fee Net Surcharge Entity Entity Amount Lines Percent 1/2015 \$-0.83 0.70 0 0 0 0 \$0.00 \$0.83 \$0.58 4/2015 1,029 1,322 2,355 \$2,943.75 \$59.94 \$2,883.81 0.70 4 \$2,018.67 Entity Total: \$2,019.25 Adjustment: \$0.00 **Total Amount:** \$2,019.25

### Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.28	\$1.28	0.70	\$0.90
3/2015	0	0	0	0	\$0.00	\$12.45	\$-12.45	0.70	\$-8.72
4/2015	2,889	5,189	10	8,088	\$10,110.00	\$206.99	\$9,903.01	0.70	\$6,932.11

							Entity Tota Adjustmer		\$6,924.29 \$0.00	
							Total Amo		\$6,924.29	
Gregory									<i><b>v</b></i> , <i>v</i> <sub>2</sub> <i>v</i>	
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2015	0	0	0	0	\$0.00	\$-1.22	\$1.22	0.70	\$0.85	
4/2015	1,987	3,509	3	5,499	\$6,873.75	\$148.58	\$6,725.17	0.70	\$4,707.62	
							Entity Tota	al:	\$4,708.47	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$4,708.47	
Haakon										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2015	0	0	0	0	\$0.00	\$-1.22	\$1.22	0.70	\$0.85	
4/2015	1,096	1,324	5	2,425	\$3,031.25	\$60.64	\$2,970.61	0.70	\$2,079.43	
							Entity Tota	ıl:	\$2,080.28	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$2,080.28	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-2.67	\$2.67	0.70	\$1.87
4/2015	2,072	3,416	7	5,495	\$6,868.75	\$137.40	\$6,731.35	0.70	\$4,711.95
							Entity Tot	al:	\$4,713.82
							Adjustme	nt:	\$0.00

**Total Amount:** 

\$4,713.82

## Hand

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.09	\$1.09	0.70	\$0.76
3/2015	0	0	0	0	\$0.00	\$13.63	\$-13.63	0.70	\$-9.54
4/2015	1,405	2,529	6	3,940	\$4,925.00	\$98.79	\$4,826.21	0.70	\$3,378.35

							Entity Tota Adjustmer	nt:	\$3,369.57 \$0.00
Hanson							Total Amo	ount:	\$3,369.57
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.73	\$0.73	0.70	\$0.51
3/2015	0	0	0	0	\$0.00	\$0.60	\$-0.60	0.70	\$-0.42
4/2015	1,112	2,770	23	3,905	\$4,881.25	\$100.31	\$4,780.94	0.70	\$3,346.66
							Entity Tota	al:	\$3,346.75
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,346.75
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.46	\$0.46	0.70	\$0.32
4/2015	752	770	1	1,523	\$1,903.75	\$47.83	\$1,855.92	0.70	\$1,299.14
							Entity Tota	al:	\$1,299.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,299.46
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-9.98	\$9.98	0.70	\$6.99
3/2015	0	0	0	0	\$0.00	\$59.00	\$-59.00	0.70	\$-41.30
4/2015	5,598	14,174	106	19,878	\$24,847.50	\$521.08	\$24,326.42	0.70	\$17,028.49
							Entity Tota	al:	\$16,994.18
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,994.18
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.77	\$1.77	0.70	\$1.24

4/2015	3,438	4,758	8	8,204	\$10,255.00	\$205.12	\$10,049.88	0.70	\$7,034.92
							Entity Total:		\$7,036.16
							Adjustment:		\$0.00
							Total Amount:		\$7,036.16
Hyde									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.25	\$0.25	0.70	\$0.18
4/2015	881	1,019	2	1,902	\$2,377.50	\$48.81	\$2,328.69	0.70	\$1,630.08
							Entity Tota	al:	\$1,630.26
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$1,630.26

#### Jackson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.50	\$0.50	0.70	\$0.35
4/2015	769	828	0	1,597	\$1,996.25	\$39.99	\$1,956.26	0.70	\$1,369.38
							Entity Tot	al:	\$1,369.73
							Adjustme	nt:	\$0.00

**Total Amount:** 

\$1,369.73

### Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.86	\$0.86	0.70	\$0.60
4/2015	1,055	1,178	0	2,233	\$2,791.25	\$55.83	\$2,735.42	0.70	\$1,914.79
							Entity Tota Adjustmer		\$1,915.39 \$0.00
							Total Amo	unt:	\$1,915.39
Jones									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.35	\$0.35	0.70	\$0.25
4/2015	608	654	3	1,265	\$1,581.25	\$31.64	\$1,549.61	0.70	\$1,084.73

							Entity Tota	al:	\$1,084.98
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$1,084.98
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-2.59	\$2.59	0.70	\$1.81
4/2015	1,751	3,856	3	5,610	\$7,012.50	\$141.08	\$6,871.42	0.70	\$4,809.99
							Entity Tota	al:	\$4,811.80
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,811.80
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-2.44	\$2.44	0.70	\$1.71
3/2015	0	0	0	0	\$0.00	\$21.68	\$-21.68	0.70	\$-15.18
4/2015	3,574	8,874	25	12,473	\$15,591.25	\$331.93	\$15,259.32	0.70	\$10,681.52
							Entity Tota	al:	\$10,668.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$10,668.05
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-4.80	\$4.80	0.70	\$3.36
3/2015	0	0	0	0	\$0.00	\$60.05	\$-60.05	0.70	\$-42.04
4/2015	9,951	14,911	56	24,918	\$31,147.50	\$635.70	\$30,511.80	0.70	\$21,358.26
							Entity Tota	al:	\$21,319.58
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$21,319.58
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-2.18	\$2.18	0.70	\$1.53

3/2015 4/2015	0 6,048	0 35,838	0 325	0 42,211	\$0.00 \$52,763.75	\$37.75 \$1,128.80	\$-37.75 \$51,634.95	0.70 0.70	\$-26.43 \$36,144.47
							Entity Total:		\$36,119.57
							Adjustment: Total Amount		\$0.00 \$36,119.57
								•	φ <b>30</b> ,113.37

## Lyman

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.24	\$1.24	0.70	\$0.87
3/2015	0	0	0	0	\$0.00	\$0.25	\$-0.25	0.70	\$-0.18
4/2015	1,464	1,847	5	3,316	\$4,145.00	\$89.43	\$4,055.57	0.70	\$2,838.90
							Entity Tot		\$2,839.59
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,839.59

#### Marshall

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.54	\$0.54	0.70	\$0.38
4/2015	2,041	2,653	8	4,702	\$5,877.50	\$120.26	\$5,757.24	0.70	\$4,030.07
							Entity Tot Adjustme		\$4,030.45 \$0.00
							Total Amo		\$4,030.45

## McCook

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.66	\$0.66	0.70	\$0.46
4/2015	2,478	4,068	8	6,554	\$8,192.50	\$163.95	\$8,028.55	0.70	\$5,619.99
							Entity Tota	:	\$5,620.45
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$5,620.45
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2015	0	0	0	0	\$0.00	\$-0.94	\$0.94	0.70	\$0.66
4/2015	1,196	1,401	1	2,598	\$3,247.50	\$78.86	\$3,168.64	0.70	\$2,218.05
							Entity Total:		\$2,218.71
							Adjustment:		\$0.00
							Total Amount	t:	\$2,218.71

#### Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-4.38	\$4.38	0.70	\$3.07
3/2015	0	0	0	0	\$0.00	\$48.00	\$-48.00	0.70	\$-33.60
4/2015	5,158	17,249	164	22,571	\$28,213.75	\$595.15	\$27,618.60	0.70	\$19,333.02
							Entity Tota	al:	\$19,302.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$19,302.49

### Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.43	\$0.43	0.70	\$0.30
4/2015	658	620	0	1,278	\$1,597.50	\$31.97	\$1,565.53	0.70	\$1,095.87
							Entity Tota	al:	\$1,096.17
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,096.17

#### Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.70	\$0.70	0.70	\$0.49
4/2015	1,143	1,480	14	2,637	\$3,296.25	\$69.53	\$3,226.72	0.70	\$2,258.70
							Entity Total Adjustment		\$2,259.19 \$0.00
							Total Amou	nt:	\$2,259.19
Minnehaha									
<b>Reporting Period</b>	<b>Telecom Lines</b>	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

VOIP Lines

Percent

Entity Amount

1/2015	0	6,390	0	6,390	\$7,987.50	\$137.07	\$7,850.43	0.70	\$5,495.30
3/2015	0	0	4	4	\$5.00	\$568.43	\$-563.43	0.70	\$-394.40
4/2015	53,348	137,071	1,788	192,207	\$240,258.75	\$5,042.12	\$235,216.63	0.70	\$164,651.64
							Entity Total:		\$169,752.54
							Adjustment:		\$0.00
							Total Amour	nt:	\$169,752.54
Moody									

#### VOIP **Entity Amount Reporting Period Telecom Lines** Surcharge Admin Fee Net Surcharge Entity Wireless Lines **Total Lines** Lines Percent \$0.00 \$-0.90 \$0.90 1/2015 0 0 0 0 0.70 \$0.63 3/2015 0 0 0 0 \$0.00 \$0.23 \$-0.23 0.70 \$-0.16 \$7,382.36 4/2015 1,705 4,331 10 6,046 \$7,557.50 \$175.14 0.70 \$5,167.65 \$5,168.12 Entity Total: Adjustment: \$0.00 **Total Amount:** \$5,168.12

## Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	1	1	\$1.25	\$-20.14	\$21.39	0.70	\$14.97
2/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2015	0	0	1	1	\$1.25	\$284.25	\$-283.00	0.70	\$-198.10
4/2015	34,239	68,768	467	103,474	\$129,342.50	\$2,662.16	\$126,680.34	0.70	\$88,676.24
12/2014	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tota	al:	\$88,495.74
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$88,495.74
Perkins									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.26	\$0.26	0.70	\$0.18
4/2015	1,906	2,423	6	4,335	\$5,418.75	\$118.69	\$5,300.06	0.70	\$3,710.04
							Entity To	otal:	\$3,710.22

**Total Amount:** \$3,710.22

#### Potter

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.18	\$0.18	0.70	\$0.13
4/2015	1,459	1,625	4	3,088	\$3,860.00	\$77.21	\$3,782.79	0.70	\$2,647.95
							Entity Tota	al:	\$2,648.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,648.08
Roberts									

## Roberts

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.80	\$1.80	0.70	\$1.26
4/2015	4,193	4,441	8	8,642	\$10,802.50	\$238.34	\$10,564.16	0.70	\$7,394.91
							Entity Tot	al:	\$7,396.17
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,396.17

## Sanborn

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.91	\$0.91	0.70	\$0.64
4/2015	1,013	1,717	0	2,730	\$3,412.50	\$68.28	\$3,344.22	0.70	\$2,340.95

Entity Total:	\$2,341.59
Adjustment:	\$0.00
Total Amount:	\$2,341.59

Adjustment:

## Spink

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-2.17	\$2.17	0.70	\$1.52
3/2015	0	0	0	0	\$0.00	\$13.58	\$-13.58	0.70	\$-9.51
4/2015	2,445	4,389	6	6,840	\$8,550.00	\$171.35	\$8,378.65	0.70	\$5,865.06
							Entity Tot	tal:	\$5,857.07

\$0.00

Total Amount: \$5,857.07

## Stanley

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.32	\$1.32	0.70	\$0.92
3/2015	0	0	0	0	\$0.00	\$10.30	\$-10.30	0.70	\$-7.21
4/2015	905	2,105	10	3,020	\$3,775.00	\$77.07	\$3,697.93	0.70	\$2,588.55
							Entity Tota	al:	\$2,582.26
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,582.26

## Sully

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.61	\$0.61	0.70	\$0.43
3/2015	0	0	0	0	\$0.00	\$0.18	\$-0.18	0.70	\$-0.13
4/2015	864	1,081	1	1,946	\$2,432.50	\$48.67	\$2,383.83	0.70	\$1,668.68
							Entity Tota Adjustmer Total Amo	nt:	\$1,668.98 \$0.00 \$1,668.98

## Todd

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2015	0	14	3	17	\$21.25	\$0.43	\$20.82	0.70	\$14.57
							Entity Total	:	\$14.57
							Adjustment	:	\$0.00
							Total Amou	nt:	\$14.57
Tripp									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.74	\$0.74	0.70	\$0.52
4/2015	2,808	3,736	7	6,551	\$8,188.75	\$163.79	\$8,024.96	0.70	\$5,617.47
							Entity Tota	al:	\$5,617.99

Total Amount: \$5,617.99

## Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-0.96	\$0.96	0.70	\$0.67
3/2015	0	0	0	0	\$0.00	\$0.08	\$-0.08	0.70	\$-0.06
4/2015	2,822	5,713	20	8,555	\$10,693.75	\$217.26	\$10,476.49	0.70	\$7,333.54
							Entity Tota	al:	\$7,334.15
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,334.15

## Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.75	\$1.75	0.70	\$1.23
4/2015	4,762	11,647	52	16,461	\$20,576.25	\$451.69	\$20,124.56	0.70	\$14,087.19
							Entity Tota	al:	\$14,088.42
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$14,088.42

## Walworth

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-1.08	\$1.08	0.70	\$0.76
4/2015	2,544	3,564	9	6,117	\$7,646.25	\$154.62	\$7,491.63	0.70	\$5,244.14
							Entity Tota Adjustmer		\$5,244.90 \$0.00
							Total Amo		\$5,244.90

## Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	0	0	\$0.00	\$-3.84	\$3.84	0.70	\$2.69
3/2015	0	0	0	0	\$0.00	\$57.60	\$-57.60	0.70	\$-40.32
4/2015	6,957	14,370	30	21,357	\$26,696.25	\$545.02	\$26,151.23	0.70	\$18,305.86

Entity Total: \$18,268.23

							Adjustment:	\$0.00
							Total Amount:	\$18,268.23
Totals	270,157	547,004	4,035	821,196	1,026,495.00	22,917.57	1,003,577.43	